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QUESTION 1

You are exporting automation objects from a User Acceptance Testing (UAT) environment to a production environment.
You should provide instructions for groups that will: (Choose two) 

A. Invoke objects. 

B. Maintain the environment. 

C. Determine which processes can be split into subprocesses. 

D. Verify that the solution works according to functional requirements. 

Correct Answer: AB 

 

QUESTION 2

Because a host in your environment contains social security numbers, you need to restrict access to a small high-
privilege group. You have been asked to investigate and implement the touchpoint security feature of CA Process
Automation. To help ensure a successful touchpoint security implementation, which factor do you need to consider? 

A. It is an orchestrator-level property that can be enforced at the orchestrator level only. 

B. The default inherited enforcement ensures non-secure processes only run if you disable touch point security. 

C. Even if you enforce it, it will not function unless you also configure a CA Embedded Entitlements Manager (CA EEM)
policy. 

D. For touch point security policies, best practice is to directly name the operators that act on touchpoints you want to
secure. 

Correct Answer: C 

 

QUESTION 3

You want to define a rule to run a set of tasks on the last day of each month. You create an object and name it
LastOpenDayofMonth, which will be used to specify the time to run backups and monthly reports. The object you
created, which contains the necessary rule, is a: 

A. Policy object. 

B. Calendar object. 

C. Resource object. 

D. Schedule object. 

Correct Answer: B 
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QUESTION 4

You have added an operator named Create_Tickets to a process. You need to access an operator dataset named
Result from this operator. Which statements will fetch the value of Result? (Choose two) 

A. Process.OpName.Result 

B. Process[OpName].Result 

C. Process.OpName.[Result] 

D. [Process.OpName].Result 

Correct Answer: AB 

 

QUESTION 5

The number of loop iterations that a loop operator will run is determined by: 

A. A Loop Exit expression. 

B. A Repeat Count expression. 

C. A CurrentLooplteration variable. 

D. An OverallLoopDuration variable. 

Correct Answer: B 
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